

A Statutory Body Of The Government Of India

DATE OF SUBMISSION : 6/29/2015 10:07:17 PM Mode of Payment: DD/Payorder/Banker's Cheque

DD/Payorder/Banker's Cheque Date: 29/06/2015

**APPLICATION ID: WRCAPP3187** 

DD/Payorder/Banker's Cheque Number: 435661

DD/Payorder/Banker's Cheque Bank: VIJAYA BANK, REWA

: DHARMRAJESHWAR SHIKSHA AVAM

Website: www.ncte-india.org

Particulars of the Authorized applicant	
Name of the Applicant	: JITENDRA SINGH
Designation	: CHAIRMAN
Address	: H.NO. 1068, Ward No. 12, Urrahat, Rewa (M.P.) - 486001
E-mail Address	: dharmrajeshwar2008@gmail.com
Telephone No (Office)	: 408261
Telephone No (Resi)	: 408261
Mobile No	: 9993452198

Name of the Applicant/Organization/Socity/Trust SAMAJ SEVA SAMITI

#### Postal Address of the Applicant

Plot Number	: H.NO. 1068
Village/Town/city	: N.H7
Tehsil/Taluka	: REWA
State	: MP
Pin Code	: 486001
Telephone No	: 408261
E-mail ID	: dharmrajeshwar2008
	@gmail.com

Street/Road Post Office Town/City District STD Code Fax No. Website Address

: WARD NO. 12 : URRAHAT : DISTRICT SATNA : Rewa (MP) : 07662 : 408261 :

www.dharmrajeshwar mvbela.org

Permanent Account Number of Society/Trust/body

: AABAD9068P

of B

अध्यक्ष धर्मराजेश्वर शिक्षा समिति उर्रहट रीया (म०प्र०)



### A Statutory Body Of The Government Of India

Details of Programmes other than Teacher Education

Details of Programmes other than Teachers Education if any, run by the same Applicant / Organization / Society / Trust

Name and Address of the Institution	Name of the Programme	Level of the Programme	Duration of the Programme	starting the	Name of the Affiliating Board/Univer.	Date of Affiliation
DHARMRAJESHWAR MAHAVIDYALAY BELA DISTT SATNA	B.A., B.Com.	Others	03	2015	AWADHESH PRATAP SINGH UNIVERSITY REWA	May 25 2015

अध्यक्ष धर्मराजेश्वर शिक्षा समिति उर्रहट रीया (म०प्र०)



A Statutory Body Of The Government Of India

Particulars of Applicant Institution

Institution Information : DHARMRAJESHWAR MAHAVIDYALAY BELA Name of the Institution : B.Ed Programm Applied for : New Recognition Nature of Application : Face Mode of Course Complete Postal Address[As mentioned in the Affidavit] 10, 12, 13, 14 Land Identification (Plot/Khasara No.) : 10, 12, 13, 14 Plot Number : OWNER Land Title : VILLAGE KEMAR Village : KEMAR Street Number : TEHSIL AMARPATAN Tehsil/Taluka : POST BELA

Post Office : MP : DISTRICT SATNA State Town/City : 485881 Pin Code : Satna (MP) District : 07662408261 Fax No. : 07662408261 Telehpone No Website Address . E-mail ID : www.dharmrajeshwarmvbela. dharmrajeshwar2008@gmail. org com : Coed Institution is for : N.A. Institution is a Minority Institution

: Private

Type of Institutions

(Please attach supporting documents. In case of institutions financed by Central Govt./State Govt./UT Admn. to the extent of not less than 50% of their recurring cost, a certificate to this effect from the Governmant concerned.)

Affiliating Body / University: A P S UNIVERSITY REWAName: A P S UNIVERSITY, REWA (M.P.)Address: 07662230050

tool-

धर्मराजेश्वर शिक्षा समिति उर्रहट रीया (म०प्र०)



A Statutory Body Of The Government Of India

Details of Existing Teacher Education Programmes

Details of Existing Teacher Education Programmes run by the same applicant

application/Company

Society/Trust/ Name of the Institution	Name of the Programme	Date of Commenceme	ion	Recognition Order Date	Name of Affiliatin g Board/U niversity	n
		Programme	Itamo		niversity	6

- = 00 STEAS धार्राजेश्वर शिक्षा समिति उर्रहट रीवा (म०प्र०)



A Statutory Body Of The Government Of India

#### Details of already Submitted Application(s)

Details of the Application(s) for Teacher Education Programmes(s) already submitted by the same Applicant/Organization/Society/Trust which is/are pending for final decision

Name of the Institution	Date of Application	Applicati on ID	Name of the Program me	Academic session for which applied	Proposed intake	Regional Committe to whom applied	Status
DHARMRAJES HWAR MAHAVIDYAL AY BELA	06/29/2015	WRCAP P3185	D.El.Ed	2016-17	100	WRC	APPLIC ATION SUBMIT TED

the

अध्यक्ष धर्मराजेश्वर शिक्षा समिति उर्रहट रीवा (म०प्र०)



### A Statutory Body Of The Government Of India

Details of Infrastructural Facilities available for proposed programme

Area of the land in possession (in sq. mts.)	: 4218
Built up area earmarked for the programm (in sq. mts.)	: 3500
Whether the building constructed / proposed to be constructed on the same land.	: Yes
Date of completion of construction of the building.	: 30/04/2015
Name of the competent authority for approval of building plan and issue of completion certificate	SARPANCH
Address of the competent authority for approval of building plan and issue of completion certificate	: SARPANCH, GRAM PANCHAYAT KEMAR, JANPAD PANCHAYAT AMARPATAN, DISTRICT SATNA (M.P.)
Whether Bldg. is disabled –friendly as per the law.	: Yes
Total Built up Area (in sq. meter)	: 3500
Total Built up Area (in sq.ft.)	: 37673.65

### Specification of Rooms and other infrastructural facilities

Description	Room No.	length in meter	Breadth in meter	Carpet area in sq meter
Class Room	4	9.00	7.50	270
Multipurpose Hall	1	18.00	10.50	189
Multipurpose Room	1	9.00	7.50	67.50
Seminar room / Tutorial room	1	9.00	7.50	67.50
Library	1	18.00	10.50	189
Principal Room	1	7.50	4.50	33.75
Administrative	1 .	9.00	7.50	67.50

37EZH धर्मरानेश्वर शिक्षा समिति उरेहट रीवा (म०प्र०)

Office				
	1	5.10	4.45	22.69
	1	7.50	6.00	45.00
	1	7.50	4.50	33.75
Boys Common Room	1	7.50	4.50	33.75
Art & Crafts Room	1	5.10	4.45	22.69
Music Room	1	9.00	7.50	67.50
Socially Useful Productive Work (SUPW) Room	1	9.00	7.50	67.50
Science Lab1	1	9.00	7.50	67.50
Psychology Lab	1	9.00	7.50	67.50
Educational Technology (ET) / ICT Lab	1	9.00	7.50	67.50
Workshop	1	9.00	7.50	67.50
Any other Room /		9.00	7.50	67.50
Any other Room / Hall	1	9.00	7.50	67.50
Toilets (Male)	1	7.50	4.50	33.75
Toilets (Male)	2	4.50	3.60	32.40
Toilets (Female)	1	7.50	4.50	33.75
Toilets (Female)	2	4.50	3.60	32.40

and the second s

NAMES OF TAXABLE PARTY.

अध्यक्ष अध्यक्ष जरहट रीया (म०प्र०)

Page No: 7

R

EL

National Council For Teacher Education A Statutory Body Of The Government Of India

Library: 1140Total number of Titles: 3185Total number of Books: 16Journals: 20No. of Computers: YesInternet Access: Yes

Academic Staff (Applicable for existing institutions) LAN No. of Vacant Details of Academic Posts available at present No.of Filled Posts Posts Pay Scale Number of Post 0 Name of the Post 1 AS PER MP GOVT 1 PRINCIPAL No. of Vacant 

	Noff		No.of Filled Posts	Posts
Technical Support S	Number of Post	Pay Scale		0
Technical Support		AS PER MP	15	1.
LECTURER	15	GOVT		

Administrative Staff Details of Non-Acad		at present	Posts	No. of Va
Administrative ota	Staff available	ealpice	No.of Filled Posts	Posts
in the of Non-Acad	Jemic Oter	Pay Scale		1
Details of	Number of Post			0
Details of Non-Acat Name of the Post		TRAP	1	
1.0		AS PER MP		-
	1	GOVT	-	0
COMPUTER O		AS PER MP	. 1	
		ASPERIN		- 2
LOCTT	1	GOVT	_	1
LAB ASSTT				अहन्स
		· · · · · · · · · · · · · · · · · · ·		Farran J
			ভাগত	रवर शिक्षा र
		No	8	ट रीया (म०

1	AS PER MP GOVT	1	0
1	AS PER MP GOVT	1	0
2	AS PER MP GOVT	2	0 Coros
	1 1 2	GOVT   1 AS PER MP GOVT   2 AS PER MP	GOVT   1 AS PER MP 1   GOVT GOVT 1

0

te

1 1

अछन्से इन्हिल्दर शिक्षा समिति उर्रहट रीवा (म०प्र०)



()

# National Council For Teacher Education

A STATE OF THE OWNER OF THE OWNER OF

A Statutory Body Of The Government Of India

### Arrangement for Games and Sports

Number of Playgrounds	length in meter	Breadth in meter	Carpet area in sq. meter
		39.17	2350.2
1	60	00.11	te india O

Website: www.ncte-india.org

जन्म अच्यक्ष

धर्मराजेश्वर शिक्षा समिति सर्वतर शेवा (म०प्र०)